‘@ 7




A L59-SZF/270 55-004--

2 /17

P

A~ )
TJ d | \
=== l o/
)

Icm
o 1 2 3 4 5 6 7 8 9 10

A B C (mm) D
1 L59-1007 2250 | 580 4/8
2 L59-1008 | 2250 | 551 4/8
3 L59-1009 | 2249 | 535 2/8
4 L59-1010 | 2249 | 535 2/8
5 L59-3006 824 480 3/8
6 L59-3007 985 480 5/8
7 L59-9302 2178 | 833 4/8
8 L59-9303 | 2178 | 993 2/8
9 L59-7001 824 535 5/8
10 L59-7002 985 535 5/8
11 L59-7003 824 535 1/8
12 L59-7004 985 535 1/8
13 dr-821x30 821 30 5/8
14 dr-981 981 30 5/8
15 w123\1 2668 51 6/8
16 w163\1 2668 32 6/8
180 min

P28-L59-SZF_270-M_IN16-A-KORO1 v/




A L59-SZF/270 55-004-- 3/17

A B C (mm) D

17 F44-7001 | 2300 | 230 1/1

B 18 F44-7002 | 2300 | 230 1/1

~ 19 F44-7003 | 2745 | 230 1/1

| 20 L59-7001 | 550 | 1364 | 7/7_7/8
21 L59-7002 | 550 | 1364 | 7/7_7/8
@ 22 L59-7003 | 550 | 1364 | 7/7_7/8

I 27x28 mm

' 4x @@i@

\ } i @15x15 mm_#22
3X

=1

043\7]” ~ o060\3

18x 24X o 8x 2X 2X ez ||12x 2X 2X 8X 2X 1\
i — / &55 f?m @149 &@m

26,3x10 mm 950 26.3x10 mm e51 28x50 mm f6 f20 IZJ50 mm M5x20 mm M5 86x21x15/1.5 n 1 4\2

2X D 2X 18x 6X /T AX 120 36X 1x 3X 20x
n45 n46\3 90x50\1,5 mm N 1 48 W n1 58 ©3,5x16 mm p38 @4x13 mm P93 67178 I'37 2200mm W1 1 8\7 2200 mm W1 60\2 51

8X @ 12x 12x @ 12x ( \ @ — 3X @ 3X M 6X @) - ()
28x30 mm f1 M4x5 mm 184 1140 M4x10 mm 1106 @3,5x16 mm p25 @3,5x25 mm p16 214x0,5 mm 559 k75\4 ©3.5x13 mm p1 25x60 mm p17 Sp'2200

18x 24X %
d20 d28

P28-L59-SZF_270-M_IN16-A-KORO1 v/



L59-SZF/270 55-004-- 4117

Al T x

okl
1 3X 8X 2X
“ 0 &
280 s00ms €51 .I’ 20
2X ww 12)@
23.5x13 mm p1 @3.5x25 mm p1 6 6,7/7.8 I'37

P28-L59-SZF_270-M_IN16-A-KORO1 v/



L59-SZF/270 55-004-- ‘ 5 /17

8X % 83X 2X @ 2X 2X g 12)@
d28| |z s00mm €51 k1 SN N158 |45 0005 o p|[s7re r37

P28-L59-SZF_270-M_IN16-A-KORO1 v/



A L59-SZF/270 55-004-- 6 /17

23,5%13 mm pl{s7rs r37

8X % 8X
d28 26,3x10 mm e51

P28-L59-SZF_270-M_IN16-A-KORO1 v/



L59-SZF/270 55-004-- 7117

7
k75\4

P28-L59-SZF_270-M_IN16-A-KORO1 v/



A L59-SZF/270 55-004-- 8 /17

s S
' S
37 @ \;\
d20 N L
d20 |f* Do
“ \ ?
S @ N e o
N : : : : d2s
; ; d20 d20 : 0 I f E@f ~
: \\\\ e50 : s '
' : d20
Q
420 d20
r37
d20 137

4] -

28x30 mm f1

4)(&

28x50 mm f6

%)

@
d20 26.3x10 mm eso

P28-L59-SZF_270-M_IN16-A-KORO1 v/



A L59-SZF/270 55-004-- ‘ 9/17

g - i B Lo N
; ; ; z e HEE S <
d20 420 5 \ s - S - B \‘\

@ TET T
@?dg_o\ d20ﬂ§@§ @ d28#

e50

(3]
H

4

"

_A,
E

6X 6X (@@
dzo 26,3x10 mm e50
P28-L59-SZF__




L59-SZF/270

55-004--

10 /17

® |

L®

il
Q
d20 d20

e50

d28 L@

6X

6X
d20 26,3x10 mm

eso 28x30 mm

4XQ

1




L59-SZF/270

55-004--

‘ 11 /17

11




L59-SZF/270 55-004-- 12 /17

w163\1

p25

~2267 mm

~i106

M4x10 mm

2X » 2

M5x20 mm 1148 womsns N4\
4X 2X

p25 23,5x16 mm p38 M5 j149

@5x60 mm @3,5x16 mm

P28-L59-SZF_270-M_IN16-A-KORO1 v/



L59-SZF/270 13 /17

P, e
B4x13 mm p93 soxsows mm N148 N46\3| [z6.3x13 mm e5 n188

P28-L59-SZF_270-M_IN16-A-KORO1 v/



A L59-SZF/270

9x
@4x13 mm / P93 sosowsmm N148

14x
26,3x13 mm e5

P28-L59-SZF_270-M_IN16-A-KORO1 v/



A L59-SZF/270 55-004--

(I 0D ¢u [D

fimd k] il




A L59-SZF/270 55-004-- 16 /17

0105

20X 3X 3X 1x 4X C@

S1 214x0.5 mm 559 043\7 - 060\3 27x28 mm e22 @15x15 mm_#22 r3

P28-L59-SZF_270-M_IN16-A-KORO1 v/



L59-SZF/270 55-004-- 17 /17
- - Jlimiip
=
:

L®

P28-L59-SZF_270-M_IN16-A-KORO1 v/



